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Part A

Answer all guestions.
Each question carries 1 mark.
What is capital aszzet ?
What iz Genoral uhar'g::ahi.lit}r 7
What do you mean by “set-off” 7
What is meant by aggregation of income ¢
Who is Tax Hecovery (Miicer ¥
What ig AOQP and BOIL?
State various kinds of securities.
What is Tax clearance certificate ?
What is Bonus share 7
What do you mean by Recovery af tax 7

_ {10 % 1=10)
Part B '

Answer any cight questions.

Each guestion carrizs 2 marks.
How to calculate short-term and long-term capital gain ?
What is capital gains account scheme ? Explain.
What iz bond washmng t-mn:-sau::tciﬁn ? (Five examples.
What expenses are not allowed te be deducted under the head “Income feom ather sourees™ ?
Discuss the provisions of the Ineome-tax Act relating to the set-off of losses,
Write a brief note on Deduction under Chapler VI of the Income-tax Art, .

Stale the powers of Chief Commissioners of Ineome-tax.
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State the functions of Ingpectors of ncome.tax,
Whal are the various {yvpes of return of income return through TRP 7
What is TCS TAN T Explain. TS
How to compute capital gain from conversion of capital asset into stock in trade 7
Write a note on specific chargeability and grossing up of interest.
{8 x 2 =168)
Part C
Answer any SIX guestions.
Fach guestion carries 4 marks.
State any fen incomes chargeable of Income Tax under the head incorne from other sources.
Explain various procedures for assessment,
What are the conditions to be fatiafied to carry forward business logsea ?

Compute the Total Income of My, Vairam from the particulars given below for the AY 2015-16 :

{i} BRusines: ineoma —~ Hs. 2,{]4?3["].
{ii} Long-term capital gain e Hs. 20,000,
(i1} Race winnings (Hersa) - Rs. 10,000.
(v  Amount deposited in PPF —~  Rs, 20,000,
(v} NBC VDI issue pur;haied — Rs. 10,000,

Mrs. Jacoh, an mﬂilmr;f resident of India, recoived the following incomes as interest on investrnents
in secvrities during the year ended 51-03-2013 :

{a) Rs 1000 as interest on Central Government Bonds,

{h) Rs. 7,200 as interest on Dehentures issued by a local authority,
fe)  Rs. 5,600 as interest on Debentures of *A’ Ltd. (unlisted).

(d) TRs. 2,700 as interest on Debentures of °B' Ltd. (Listed).

(el Ra 4,800 azinterest on Tax Free Debentures of 'C Ltd. (unlisted).
Determine Mrs, Jacoh's interest on securities under the head ‘Income from other sources” for the
Assessment Year 2015-16. ;
From the following particulars of income of assegses A, B and C, how the capital losses shall be
set-off and carried forward for the previous year ending 31-3-2015 :

. REI
A. (i} Pusiness income ... 15,000
(i} Short-term capital loss .. 1,200
{1i1) Long-term capital gain (shares) 7.200
(iv) Long-ierm capital gain on sale nEjewe]lery o 20,000
B. (i} Business income o 30,000

(i} Shertderm capitel ioss ... 40,000
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3. {i) Business income ver 80,000
(i1} Short-term capital gain e 20,000
(iii} Long-term capital gain (land) . 17,000

{iv) Carry forward loss (short-term capital assets} 60,000

Explain the basis of eomputation of capital gain on Right shares.
What is basis of charge 7 Explain.
Sitate the merits and demerits of advance payment of tax.

Part D

. Answer any two guestions.
Each guestion carries 15 marks.

State the provisions relating to advance payment of tax and refund of tax.

From the following information, compute income from other sources of Mr. Arul ;

Interest on deposits with a company
Univergity remuneration for working as examiner
Royalty for writing books :

He claims to have spent Rs. 20,000 on writing theses books
Dividend declared by Raja Company on 1-3-2015 but paid on 1-5-2015
Interim dividend paid on 1-5-2015
Stake money on race horses

Horses are maintained by him and expenses on maintenance
of these horses are Rs. 2,40,000

Family pension received
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(6 x4=24)

Hs.

1ﬂ|ﬂﬂ'ﬂ
6,000

60,000
6,000
3,000

1,650,000
36,000

34, Mr, Arun, an Indian resident, furnishes the following particulars of his income for the assessment
yoar 2015-2016. You are required to deal with set-off and carry forward of losses :

Particulars’ Ameount

(Rs.)
Income from securitios (Gross) . 10,000
Income from residential house (computed) ... 5,000
Profits from rayon business 25,000
Income from an agency business 2,060
Speculation business : 2,000
Short-term capital gain - 4,000
Long-term capital gain . 9,500
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The carry fe:rward items from the agscssment year 2014-2015 are :

Particulars Mmool
({Ha.)

Loas (rom huswr}r business (discontinued in 2012-13) . 4,000
Loss in agency business 3,000
Loss from rayvon business o P 4,000
Speculatign loss 4,000
Short-term capital loss | . B,000
Long-term capital logs {of previous vear 2012-13) 6,500

Current year's depreciation for rayen business is Ra. 500,

33, What are the powers of CBDT ? Explain the powers of Inéome-tax Authorities relating to search
and seizure ufs 132.

(2= 15=30)



